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PART-Il

NOTE: There are three sections of this paper. Carsfully, read the Ingtructions for each section and attempt

accondingly. Attempt all questions of Section-A and return it 10 the Superintandent within given time,
“even if you have not attempled any question. Select the carrect choice and write onty A, B, G or D’
whichever is appropriate, in the answar box. No marks will be awardad for ~utting/erasing or overwriting.

SECTION-A

Time: 20 Minules Marks: 18
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1,
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15,
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17.
18.

Which of the following is the fast structure that urine passes through dunng its excration from the body?.
4) distal tubule. B) urathra, C) urinary bladder, D) UPBIBN oo mesescsssssminssas s o L.EJ

An apimal that warm itself mainty by absorbing heat from its surraunding is known as: A) homeothem,
B) ectoarm, C) endotherm, D) NESrOE ... oo iissssimsssstusss i e

Every person §as ......... human leukocyte antigens. A) 46, B)23, C)8, D)6 .vrcnee ‘LE]
‘Which of the foliowlng fs a cerebral narve? A) vaqus nerve, B) cervical, C) lumbar, D} thoracic @
In maring fishes the dfvalenl are excrated by: A} kidney, B) skin, C} gills, D} none of these . @

CO,is transported by haemnglobin in .......... form,) A} carbamino Hb 8) Carboxy Hb,
C) Carbondioxide Hb, D) caﬂondig!obln TR © /S

100CC of blood when fully saturamd with oxygen, wntalns ... CC ff oxygen.

A}15, B)20, C)25, ©}10 .

Tie adrenal cortex poduces ...... A) &enline, B) ddostemneC) epinephiine, D) calcitonin .......

After forced expfrahon the volume ol air remaén in lhe fungs is ......... A}500mi, B)1.6litre, .

(8]
I3

In whicki form transport of CO, takes place in the tioad. A) carbonic acid, B] bicarbonate ions,
C) hydrogen ions, D) oxyhaemcg!obm vovtteester ervres

Which is the most |mportant mechanism for vater loss from the body? A] sneemng,
B) excretion in urine, C) efimination in feess, D) sweating .. R [ﬁ

The electrica! polential of cell memtwane of neuron, when it is nnwansmlmng any signal is called:
A) synapse, B) pmpagahon of Impulse, C) action potential, D) resting membrane potential .....cooovovv.e.

Approximately wrerinneetd Of CQb i carried In the blood as bicarbonale fon, - A) 60, B) 70, C)80, D)97 ..

Human lungs are spongy dus to the presence of millian of: A) bronchl B] aiveoli, C) bronchroies,

.......... lsjhypenglycanﬂcagent A} g!ycogen. B} glucagom C) glucose ) RTIE] 1| —

Most promixent symptom ofAizhelrner's diseass is: A) pain, B) dementia, C) mﬂawnaﬁon _
D} unconlmlled oelldlvwon o -

'Themmber of Iinkage gmup in man is: A) 02, B) 23, CJ 46, D) 92, .
| Ability of an organlsm to tolerate dehydralson for certa:n penod of time is known as: A) hydmbuosis

B) anhydrobiosis, C) biosis, D) hydratson

(D]
.
D) rachea ..o i, s st s - :
Y
Y
(8]
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CTION-B
_ Marka: 40

1. Aftempt any ten of the following. All carry equal marks.

i

i
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v,

vi.

vii.

vill.

xii,

xXiil.

What is ectopic pregnancy? -

What is intrinsic biological clock?

Shortly describe the structure of forebrain,

How daes transmission of nerve-impulse occur across synapse?
Define arthritis. Write down fouf symptoms and two causes of arihritis.
How are the extra-embryonip membranes formed?

How is rule of addition used in genetic?

_ How did Edward Jenner prepare the first vaccine? _

Differentiate between cardiac and smooth muscles.

Def_ine ecological succession. Cive its types.

Briefly describe the impast of UV-Radiation on human healtt.
What are the benefits of human genome preject?

What are subunit vaccines?

SECTION-C

:, Marks: 27

NOTE: Altempt any 1hrgé of the following questions. Al questions carry eé;ua! marks.

2. Discuss the structure and function of female reproductive system.

3. Critically analyse the history of chromosome theory of inheritance.

4, |
il.

ot “
What are the components of PCR technique?
Differentiate between structure of gene and chromosome.

5. Why is pituitary gland known as master gland? Explain in detail. : L
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